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■ 定積分

In =

∫ π/2

0

sinn x dx, n = 1, 2, 3, · · ·

について次の問いに答えよ．

(1) In+2 を In と n を用いて表せ．
(2) I6，I7 を求めよ．

（解） (1) 各 n ∈ N に対して，部分積分法により

In+2 =

∫ π/2

0

sinn+1 x [− cosx]
′
dx

=
[
sinn+1 x · (− cosx)

]π/2
0

−
∫ π/2

0

{(n+ 1) sinn x cosx} · (− cosx) dx

=(n+ 1)

∫ π/2

0

sinn x (1− sin2 x) dx = (n+ 1) In − (n+ 1) In+2

となり，
In+2 =

n+ 1

n+ 2
In

が得られる．(2)

I1 =

∫ π/2

0

sinx dx = [− cosx]
π/2
0 = 1,

I2 =

∫ π/2

0

sin2 x dx =

∫ π/2

0

1− cos 2x

2
dx =

[
2x− sin 2x

4

]π/2
0

=
π

4

より
I6 =

5

6
· 3
4
· π
4
=

5π

32
, I7 =

6

7
· 4
5
· 2
3
· 1 =

16

35

である．

1


